

University Of Anbar

College of Education for pure Science

Department of Mathematics

Morning study – First Grade

Time	9.00 – 10.00	10.00 - 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day	9.00 – 10.00	9.00 - 10.00 10.00 - 11.00		11.00 – 12.00		2.00 – 3.00
Sunday	Calculus 2		Calculus 2		fundamental of mathematics 2	
Monday	Linear of Algebra 2		Calculus 2		Free Hours	
Tuesday	fundamental of mathematics 2		Free Hours		Linear of Algebra 2	
Wednesday	Physics 2		English Language		Freedom and Democracy	
Thursday	Computer 2		Education Principles		Free Hours	



Department of Mathematics

Morning study – Second Grade (A)

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day	9.00 - 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	Groups Algebra 2		Advance Calculus 2		Advance Calculus 2	
Monday	Ordinary differential equation 2		Groups Algebra 2		Free Hours	
Tuesday	Free Hours		Advance Calculus 2		Ordinary di	ferential equation 2
Wednesday	Geometry 2		Education Administration		Advance Computer 2	
Thursday	Geometry 2		Free Hours		Free Hours	



Department of Mathematics

Morning study – Second Grade (B)

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 - 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00		1.00 -2.00	2.00 – 3.00
Sunday	Advance Calculus 2		Free Hours		Ordinary differential equation2	
Monday	Groups Algebra 2		Ordinary differential equation 2		Advance Calculus 2	
Tuesday	Groups Algebra2		Free Hours		Advar	nce Calculus 2
Wednesday	Geometry 2		Education Administration		Advance Computer 2	
Thursday	Geometry 2		Free Hours		Free Hours	



Department of Mathematics

Morning study – Second Grade (C)

Time	9.00 – 10.00	10.00 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 - 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 5.00
Sunday	Free Hours		Ordinary differential equation 2		Groups Algebra 2	
Monday	Advance Calculus 2		Advance Calculus 2		Ordinary differential equation 2	
Tuesday	Advance Calculus 2		Groups Algebra 2		Fı	ree Hours
Wednesday	Geometry 2		Education Administration		Advance Computer 2	
Thursday	Geometry 2		Free Hours		Iours Free Hours	



Department of Mathematics

Morning study – Third Grade (A)

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 - 3.00
Day	7.00 - 10.00	10.00 - 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 - 3.00
Sunday	Partial differential equation 2		Rings Algebra 2		Free Hours	
Monday	Analysis Mathematical 2		Rings Algebra 2		Free Hours	
Tuesday	Partial differential equation 2		Free Hours		Analysis Mathematical 2	
Wednesday	Probability 2		Numerical Analysis 2		English Language	
Thursday	Probability 2		Educational Guidance		Numerical Analysis 2	



Department of Mathematics

Morning study – Third Grade (B)

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 - 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	Rings Algebra 2		Partial differential equation 2		Free Hours	
Monday	Rings A	lgebra 2	Analysis Ma	thematical 2	Fı	ree Hours
Tuesday	Analysis Mathematical 2		Partial differential equation 2		Free Hours	
Wednesday	Probability 2		``		English Language	
Thursday	Probability 2		Educational Guidance		Numer	ical Analysis 2



Department of Mathematics

Morning study – Fourth Grade (A)

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	Analysis Complex 2		School Apps		Free Hours	
Monday	Statistic Mathematical 2		Topology2		Analysis Complex 2	
Tuesday	Topology2		Statistic Mathematical 2		Free Hours	
Wednesday	Modules 2		Modules 2		Analysis Functional 2	
Thursday	Analysis F	unctional 2	Free 1	Hours	Fı	ree Hours



Department of Mathematics

Morning study – Fourth Grade (B)

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 - 3.00	
Day	7.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00	
Sunday	School Apps		Statistic Mathematical 2		Free Hours		
Monday	Торо	Topology2		Analysis Complex 2		Free Hours	
Tuesday	Analysis Complex 2		Topology2		Statistic Mathematical 2		
Wednesday	Modules 2		Modules 2		Analysis Functional 2		
Thursday	Analysis Functional 2		Free Hours		Free Hours		